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Geometry@t Extra Practice with Chapter 2 fD .”OLW a ,' A W"""l (43

1. A statement is considered a definition if the original conditional AND its converse are boﬂﬁﬁae If they are *VS'?L
BOTH true, then you can write the statement asa __picendtehgne which contains the phrase J G’«
o

2, Use the following statement for questions the following questions:
All cats are felines

a.  Write this as a conditional

TS e Cpt Hon S A feline

State the hypothesis WS o cat

=3

¢. State the conclusion
RN ﬁdf/w,
d. Write the converse f):'/1 AR MF@["W y /l’km i+ 15 o Cect,

Traw a Venn diagram for the above example.

ol

3. Identify the hypothesis and conclusion of the conditional. Write the converse and state whether that is true or
false... if it is false, state a counter example.

If two angles are complementary, then their sun is 909

Hypothesis

Two oades  are WPQMW%L

fove i is 90
Converse I4 Z le\(z\\,LS have G Sum = ‘7() JA~en ‘*4’\-&/\ (e de_,p(ﬂﬂ/LijZyl

Conversr false ﬁY\/{Q_.a

Biconditional (only if true!) “Two Gf\C\UJ i LMLQW«)?’»V/] IGC enal ovt(q irf
4/{/\9/4( Stuw (S OIO

Conclusion

unterexample (only if false!)

4. Given the statement: All adjacent angles form a linear pair. s the statement true or false? Explain.

¢l ({5(\1 bdeang o L7 Gepl NOT
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3. Re-write the following statement as a conditional and converse. Give the truth value of each statement, if it is
false, give a counterexample.

Two angles that are adjacent share a common vertex. Shere &
‘. N i
Conditional: If A 25 ot 4 A 4 ted, Maen , Loy V\Q(JL?/)(
. 3 2

Converse:. LF 2 %' ﬁhar{ 0. Lovaipn  Vedley £t fep iy e cam
’ N 5@’9‘4 Ceao-

6. Use the following statement to answer the following: Vertical angles are angles that share a common vertex.

a.  Re-write the statement as a conditional and converse.

Conditional: IP 2 éffi oL \/‘M}YCQ/(’ P Mg Shc/,-g A C’--J‘AAAWV)

- Vs
f 5 )
Converse: & A >§5 \E\OM G Lpmm N Vies ']*6)5 ,”PL\M ey oy
Syrerhead
b. Is the statement a good definition? Yes or no? Why? If yes, write it as a biconditional. ]

mqﬂ,(/{(_’? f‘))(‘ MAOT vwovszeciihta
S f - A S S e A

Then  onvete o Falde
' ' L4 NP

7. Write the conditional statement represented by the give&’ diagram:

If s a Tiox, dben # js Conoin .

8. Find the value of 'x’, then the value of each of the labeled angles.

A
3

9. Name the property of equality or congruerice that justifies going from the first statement to the second

Statemert.

LM = /N ,, =24 PO =RS and RS = TU
. . .

LN = LM x=8 PO=TU

Supn e Divisi l;\* Arapsihine
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REMEMBER TO STUDY ALL THE PROOFS THAT HAVE BEEN DONE THROUGHOUT THE PAST

COUPLE WEEKS!H!!
10. Complete the following fill-in proof Y i
. Complete the following fitl-1n proofs. ) -
p \z{\/, P
A. Given: X is the midpoint of MN ; MY = RX . *'\\\IL
/ ~
TN
Prove: RX = XN R
STATEMENTS REASONS
1) Xis the midpoint of MN D Gen
%) XN = MX 2 Deh. amudlpennt
3) XN =MX 3)  Defr-£ '
4) MX =gy 4) given '
5) XN=RX 5) Subshdvehern
6) Q="YX 6) Saﬂmw:ufwb
T
U
B. Given: 1 and £2 are complementary; m£2 = mZ3 ~
Prove: 1 and Z3 are complementary
STATEMENTS REASONS
1) Z1 and £2 are complementary 1) Gy
2) pweltmery = b 2) Definition of complementary angles
3) mL2=ms3 ) Given—
H we) 4 ymex =90 4) substitution POE
5) 2y endeh  pre comPuaidng

J
C. Given: 3(x+1)=2x+7
Prove: x = 4

5) Debn. of wmpuﬂm?‘w

STATEMENTS REASONS
D 3x+1)=2x+7 1) G»,W_;\,
2) s = Axe] 2 Trsdnbudve
Dx+3=r] 3) Subhaidve-
) x=4 4 Siblva o
b C
Given: ZA isaright angle; «B is aright angle; ZB = £C
Prove: LA = /C
A B
STATEMENTS REASONS
1) ZA isaright angle; /B is aright angle 1) Gur—
) cAELB 2) all right angles are congruent
3) LRz 3) given .
4 ALl 4y enSihe




E. Given: ms/ABC=2x—-3; msEBD=285
Prove: x =44

B\
- T
()
STATEMENTS REASONS
D meABC =Q3x-3 . Mm<ERD=EY ) Gyen

2) <2 AR and & [;fj'b ot Veiheed 3N

2} definition of vertical angles

3) /ABC = /DBE

3)  Verfical X5 Thaa

) _mcABL =m<DRE

4) definition of congruent

§) 2x—-3=85 5) Suukshfutua
©) Ax =8 ) Peltdn
N ysyy N Dasi—
AR A 7
Given: BD bisccts ZABC; mZABD +mZC =90 4
Prove: /DBC and ZC are complementary >
D
B ! e
STATEMENTS REASONS

1) BD bisects ZABC

¥

D Gwer

2) ZABD = /DBC

2) Defne o ¥ bisecter

3 AR = m< . DRC

3) Definition of congruence

4) MCABD < 29D

4) Given

5) mZDBC+msC =90

5) Subshdafs

6) et DR ad « (. ot g Pleme

G. Given: mZ1 + ms3 =180
Prove: /1 = 22

#6)  Defn. o quwdﬁ&qﬁ

1 A3 .
STATEMENTS REASONS
D W eme =(§0 1) Cglu/u
2) £2 and /3 form a linear pair 2) De. bn. Pr,

3) A end 23 0 SUOOM

3) /i Poo PsShndete

D med +on <3 180

4) _Dafa- Svpplen<dy -

5) mZl+mA3=mA2+m/3

5) Substitution (or transitive)

0 el = mE<B

6) Subtraction Property of Equaliy

7) L) LD

7) rDQdy] , ==




